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EXERCICES DE FACTORISATION - http://www.toupty.com

Classe de 3°

Exercice 1

Factoriser chacune des expressions littérales suivantes :

A=6422+64x+ 16
B=(-72z-3)x(-92 —1)—(-9z — 1)x (82 +9)
C=(-2zx+42*-9

Exercice 2

Factoriser chacune des expressions littérales suivantes :

A= (x—5)%—-100z2

B=3622>-9

C =100z% + 180z + 81

D = (-10z+4+4) x 2z+8) + (-10z+4) x

Exercice 3

Factoriser chacune des expressions littérales suivantes :

A=281224+108x + 36
B=-36+ (92 —9)*
C=102+8)x (=924 1)+ 9z +3)x (10x +8)

Exercice 4

Factoriser chacune des expressions littérales suivantes :

A=—(10z—2)* +49
B = -2+ 64
C=(-10z+8)x(2x+5)+(—6x—3)x(2x+5)

Exercice 5

Factoriser chacune des expressions littérales suivantes :

A=252%— (z—17)*
B =-362%+25
C=(—6x—4)xB8x+5)—(8x+5)x(—9z—5)

Exercice 6

Factoriser chacune des expressions littérales suivantes :

A=—(10z+1)* + 1622
B=—-8x+9)x(Te+7)+2x+5) x (Tx+T7)
C =812?-16
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D= —-1622+25
E=(-Tx-7°+ (=T —-T)x (5z—9)
F=8zx+5)x9x+3)+8x+5
(=22 +10)

E=(2z+9%+@Bz—1)x (22 +9)
F=—-(10x—-4)x 8z —-8)+10x—4

D =1002% — 25
E=(-33+6)x (—2z+1) — (=3z +6)?
F=6x+3+(92+2)x (6x+3)

= 6422+ 1442 + 81
(T2 —6)> = (Tx—6) x 3z —4)

D
E
F=0bz—-3)x(de+7)+4z+7

=4x%+242 + 36
(6x+4)x(2x+6)+2x+6

D
E
F={4z+3)x (—Tz+4)+ (42 +3)?

=492 — 1262 + 81
(10 +1)>+ (=10 — 1) x (10z + 1)

D
E
F=0(Bx—-T7)x(6x+7)+bx—-7
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